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Exercise 3.2
Question 1:
Find the values of other five trigonometric functions if cosx = —% , X
lies in third quadrant.

Answer 1:

1
COS X = ——

sin“x+cos’ x =1

—sin“x=1—cos’ x
cp 1Y
=sin"x=1—| ——
2

. 3 1 3
=sin“x=1——=—
4 4

3

= sinxyx=+——
=

Since x lies in the 3™ quadrant, the value of sin x will be negative.

V3

ssinx=———
2

1
cosecx = =

www.tiwariacademy.com



http://www.tiwariacademy.com/

Mathematics

(www.tiwariacademy.com

(Chapter — 3) (Trigonometric Functions)

Question 2:

Find the values of other five trigonometric functions if

second quadrant.

Answer 2:

sin x =

W

1

COSCC X = =

sin x (

sSin“x+cos  x=1

i

N W) e

— cos” x=1—sin’ x

: 3\
:cos‘le—(—}
§

25
> 16
= COS$™ X = —
25
4
= COSXx =X —
>

LA
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sinx =

| W
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, X lies in

Since x lies in the 2" quadrant, the value of cos x will be negative

J.COSXY = -
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Question 3:

Find the values of other five trigonometric functions if
third quadrant.

3 .
cotx== , x liesin

Answer 3:

3
cotx = —

1 1 4
tan x = —
3

cot x (3)_
4

1+ tan” x =sec” x

3)
— | + =sec” x
3

L]

= 1l+—=sec’ x
9
25 5
= —— =sec’ x
9
5
— secx =+—
3

Since x lies in the 3™ quadrant, the value of sec x will be negative.

5
S.Secx = ——
| 3
COsSX = = =——
secx ( 5 ) 5
T A
3
X
tan x =
COsS X
4  sinx

—
3 -3
5
: [4] (—3] 4
=sinx=| — |x| — |=—=
3 5 5

5
COSeC X = —
sin x 4
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Question 4:
Find the values of other five trigonometric functions if Sec_\-=l_53 , X lies

in fourth quadrant.

Answer 4:
13
SeC XY = ——
5
1 ] 5
COSX=——=Fr=—

secx 13 13
5

. 4
sin~x+cos x=1

—=sin"x=1-cos™ x

>

—=sin”“ x = l—(—)

. 2 25 144
=sin" x=l-——=—
169 169
12
=sinxy=%+—
13
Since x lies in the 4% quadrant, the value of sin x will be negative.
3 12
SJSmx=—-——
13
1 1 13
COSEeC X = = = —

sin x (_12) 12
13

—12
sin x [ 13 ] 12
lanx = = =—
COS X ( 5 ) 5
13
cotx = = =——
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Question 5:
Find the values of other five trigonometric functions if tanx=-- , x lies

in second quadrant.

Answer 5:

tanx = ——
12

-

cotx = - —— =
tan x (_ 5 J

> >
l+tan- x =sec™ x

Since x lies in the 2" quadrant, the value of sec x will be negative.
13

.SeC X =
12
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Question 6:
Find the value of the trigonometric function sin 765°

Answer 6:

It is known that the values of sin x repeat after an interval of 2n or 360°.

3 : g o |
©.8In 765° =sin(2x360°+45°) =sin 45° = —=

Question 7:
Find the value of the trigonometric function cosec (-1410°)

Answer 7:

It is known that the values of cosec x repeat after an interval of 2n or
360°.
- cosec (—1410°) = cosec(—1410°+4x360°)

= cosec (—1410°+1440°)

= cosec30°=2

Question 8:
Find the value of the trigonometric function tanlng

Answer 8:

It is known that the values of tan x repeat after an interval of n or 180°.

19
. tan

b | ) T ~
— tan6;7t = tan((nwsz tan — = tan 60° = \/._»
3 3 3
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Question 9:
Find the value of the trigonometric function sin(-”Tn)

Answer 9:
It is known that the values of sin x repeat after an interval of 2n or 360°.

.'.sin[—”—H)zsin(—Hn+2x2n]=sin[£):£
3 3 3 2

Question 10: _
Find the value of the trigonometric function cot(—'STn]

Answer 10:
It is known that the values of cot x repeat after an interval of n or 180°.

s ( 15n )
scot| —— ]:cott - +4n
\ 2 \ 4 /

i
=cot—=1
4
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